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QUESTION 1

An administrator recently added VLAN 205 CRM in Prism Element. The workloads attached to the associated NICs are
unable to establish network connectivity. Which Layer 2 protocol allows the administrator to troubleshoot this issue from
Prism Element? 

A. HDLC 

B. SUP 

C. LACP 

D. LLDP 

Correct Answer: D 

 

After the migration, some SQL queries take longer to execute than prior to migration. The following SQL best practices
were applied while creating the SQL VM on Nutanix: vDisks per SQL server VM 

Database and Log files on separate vDisk TempDB database drives and 1 TempDB log drive What should the
administrator to do improve the SQL Server performance? 

A. Redistribute existing data by creating additional database file and enable autogrowth 

B. Create multiple TempDB data files and enable autogrowth 

C. Create multiple SQL log files and disable autogrowth 

D. Redistribute existing data by creating additional database files and disable autogrowth 

 

QUESTION 2

An administrator needs to create and start five new VMs for a Data Analytics Project (OLAP). The VM Profile is as
follows: 

vCPU:4 vRAM: 64 GB vDisk: 1.5 TB 

Each of the four nodes of the Nutanix cluster has the following: 

24 vCPU. 20% overall usage 192 GB RAM, 60% overall usage 2xl920GBSSD 4x 2 TB HDD 

At cluster level, there is a single RF2 container that is 30% utilized and has an extent store capacity of 13.5 TB. 

Which component requires administrator attention? 

A. Physical RAM, because it is not enough to power on all of the new VMs. 

B. Physical Cores, because they are not enough to power on all of the new VMs. 

C. Storage, because the capacity is not enough to create VMs. 

Latest NCM-MCI-5.15 Dumps | NCM-MCI-5.15 Practice Test | NCM-MCI-5.15 Study Guide                               2 / 4

https://www.geekcert.com/ncm-mci-5-15.html
https://www.geekcert.com/ncm-mci-5-15.html
https://www.geekcert.com/ncm-mci-5-15.html


https://www.geekcert.com/ncm-mci-5-15.html
2024 Latest geekcert NCM-MCI-5.15 PDF and VCE dumps Download

D. Flash Tier because it is not enough to accommodate the workloads. 

Correct Answer: A 

 

 

QUESTION 3

An administrator of a Nutanix Enterprise Cloud has microsegmentation enabled and a firewall VM installed. The security
team notifies the administrator that one of the VMs hosted in the environment has been exhibiting suspect network
activity. The administrator wants to isolate the VM from the production network, but must still be able to access it to
perform diagnostics. 

What should the administrator do to meet the requirement? 

A. Disable the vNIC on the affected VM 

B. Quarantine the VM using the Forensic Method 

C. Create a firewall rule that blocks VM traffic but permits diagnostic access 

D. Create a security policy with a service chain directing that VMs traffic to the firewall VM 

Correct Answer: B 

Explanation: Ref https://portal.nutanix.com/page/documents/kbs/details?targetId=kA00e000000LIelCAG 

 

QUESTION 4

An administrator is deploying an application that requires maximum I/O throughput for scratch data. The administrator is
concerned that the throughput requirement is greater than what can be provided by a single cluster node. What should
the administrator do to meet this requirement? 

A. Create a volume group with several virtual disks and attach to the VM 

B. Create a volume group with one virtual disk attached to the VM 

C. Create a virtual disk attached to the VM\\'s PCI interface 

D. Create several virtual disks attached to the VM\\'s virtual SCSI controller 

Correct Answer: A 
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Explanation: Ref: https://next.nutanix.com/community-blog-40/scaling-up-vm-storage- performance-on-ahv-volume-
group-load-balancer-28063 

 

QUESTION 5

A customer has two mission-critical applications and needs to have them backed up to a remote location. The remote
location is connected using a leased line and has an average latency of 7 ms. Which Nutanix technology will provide the
shortest RPO possible? 

A. NearSync 

B. Leap 

C. Metro Availability 

D. AsynandDR 

Correct Answer: B 

Explanation: Ref: 

https://portal.nutanix.com/page/documents/solutions/details?targetId=BP-
2005_Data_Protection:BP-2005_Data_Protection 
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